Total Enroliment by Grade
Kindergarten = 81
1st Grade = 108
2nd Grade = 104
3rd Grade = 125
4th Grade = 125

With Current Staffing
Lunch Supervision
4th + 1st = 233

233/ 4 = 58.25 student : teacher ratio

K + 3rd = 206
206 / 4 = 51.5 student: teacher ratio

2nd = 104
104 / 2 = 52 student: teacher ratio

Recess
1st Grade = 108
108 / 3 = 36 student: teacher ratio

Kindergarten = 81
81/ 3 = 27 student: teacher ratio

2nd + 4th = 229
229 / 4 = 57.25 student: teacher ratio

3rd Grade = 125
125/ 3 = 41.66 student:teacher ratio

4th Grade = 125
125/ 2 = 62.5 student:teacher ratio

2nd Grade = 104
104 / 2 = 52 student:teacher ratio

With Proposed Additional PT Educational Technicians

Lunch Supervision
4th + 1st = 233
233 /5 = 46.6 student : teacher ratio

K + 3rd = 206
206 / 5 = 41.2 student: teacher ratio

2nd = 104
104 / 3 = 34 student: teacher ratio

Recess
1st Grade = 108
108 / 3 = 36 student: teacher ratio

Kindergarten = 81
81/ 3 = 27 student: teacher ratio

2nd + 4th = 229
229 / 5 = 45.8 student: teacher ratio

3rd Grade = 125
125/ 4 = 31.25 student:teacher ratio

4th Grade = 125
125/ 3 = 41.7 student:teacher ratio

2nd Grade = 104
104 / 3 = 34.6 student:teacher ratio



